
���������
	��
�����������������������
�����������
	��
� ���"!#���
���
$%���
��&('���)+*,�����
� �
�
��&
-�.0/21�3546.7328:9�;=<>.?;A@�BDCE.?9�;=FHG?I>BKJ�9�.

LNMPO�Q '���� LNRNRNS
TVUXW?Y[Z]\�^_\(`N`

acb>dfe(gfh5iKj0kHg5l=mPnon

pq� �srt��u�v��
��)��
�Vw�'Pr=v������
�V�
����)#�o'�$yx]��	
�
	���v��
�V���V)��
�Vz���'���v��
�
'���)��
�V����$ LPO�{cO�LNRNRNS ��� �}| O�{cO�LNRNRNS
����	
�o'����
	��
�����
� O w�u�u �~w�'Pr=v������
��������)�������	
��r=�
u�� �����o'����H��	
���
�����
��'���)�)P� ���E�H��	
���
���
'���v��
����� ���o'�$
MNRPO��PO�LNRNRNSP�K�HRPO�RNR ����	 � ���+)P� ��v��
&��
�����H�
� �������
���
�"��	
� ��rt&N���
���
�+�
�����o'����
	�rt�
� O

� hK��j�m�g]�#��� � ����*c�
�
A := {x ∈ R

2 : x1, x2 ≥ 0, x1 + x2 ≤ 1}
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n,m ∈ N0 �
∫

A

xn
1xm

2 dx =
n!m!

(n + m + 2)!
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B := {x ∈ R
2 : |x − (0, 1)T | ≤ 2}
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∫

B

(x2

1 + 3x2

2 + 1)dx.
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{(x, y, z) ∈ R
3 : x2 + y2 ≤ R2, 0 ≤ z ≤ h}, R, h > 0� �0�E�¢�
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{(x, y, z) ∈ R
3 : 0 ≤ z ≤ h(1 −

√

x2 + y2/R}, R, h > 0� �£�E¤2��	
'��
{(x, y, z) ∈ R

3 : (
√

x2 + y2 − R)2 + z2 ≤ r2}, 0 < r < R.
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M = {(x, y, z) ∈ R
3 : 0 ≤ x3 ≤ h

'���)
|x − (2 cos x3, 2 sin x3, x3)

T | ≤ 1}.
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B ⊂ R
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x̄ = (x̄1, x̄2, x̄3)
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x̄i := (

∫

B

xiρ(x)dx) / (

∫

B

ρ(x)dx), i = 1, 2, 3.
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B = {x ∈ [0,∞)3 : |x| ≤ R}, R > 0
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ρ = 1
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